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HISTORY
( Major )
Paper : 6.3

[ History of Europe (1871-1945) |
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions in 1 word or
in 1 sentence each : Lx7=7

wole faal 2P Afech Tes @bt @ 37 9bl TS
fora -

(a) Who was the first President of the Third
French Republic?

PO T SITE 42X TS G wfeE ?

(b) Who was Emile Zola?
G2 CEe] (I IR ?

(c) Name the signatories of the Triple
Alliance.

faCral ST FrwaF PR A9 &40 |

(d) Who wrote Mein Kampf?
‘R @ @l FRfE
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(e) Who was known as the ‘honest broker’ in 3. Write short notes on (any three) : 5x3=15
the Congress of Berlin in 1878;? 5 1 BRI (ﬁ ShE I
Sray 59 JMfeld FNARS ez FE’ A WO '
TEEH P ? A _ (a) Boulangist Movement
() Who declared himself to be ‘the prisoner ﬁ‘{ﬁ@ SICHIE
e el Vat1‘can”? A (b) Treaty of Lausanne
@l e ‘cofberma 37 3 camen sRfee 2 T B
(g) Wh;; axiva;)s the founder of the Fascist Party (c) Rome-Berlin-Tokyo Axis Power
in \
@E-fef-5 R o e
Wifere @8 woe AfSveR @ =fE 2 e
(d) Locarno Pact
2. Answer the following in brief : 2x4=8 T E%
frafefs eppmee 53 eq fore fe) Benito Mussolini

CIfIchT e=ifarfa

(a) Who were Depretis and Crispi?

ffafor = fanf @ =ifee 2 4. Answer any three of the following questions :
i 10x3=30

(b) Write two provisions of the ‘Algeciras PR ez R e fofbr e foisi -

Conference’. (@ 4 et L OOy of

) ) a) Critically analyze the internal po

Algeciras &< 761 7%l f&41 | Bismarck.
(c) What were the two important objectives Rowfs wreRAl T CRANT I

of the League of Nations? S[5QCEET | )

PR 701 @yl Sow 6 2 (b) Under what circumstances did Russia

sign’ the ‘Non-Aggression Pact’ with
Germany in 19397

3 ¥oeT 2[RIZT WCeed AR THIAT TS Svon
TS ST Ffe bR S ?
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(d) Name the two leaders of the Bolshevik
Revolution in Russia.

oA qercefod [eEs 1o ¢TorR ™ foran |
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(c) Account for the rise of Fascism in Italy in
the post-World War I period.

AT a7 2@ SieTe 2hife et SUmE
PR ATy 7471 |

(d) Account for the success of Bolshevik
Revolution in Russia in 1917.

3539 B9 Ty qecRied RU9  EEON
RIS 577 |

(e) “Berlin COngress created more problems
than it solved.” Justify the statement. .

‘el IR AW WEE  FAOE HEE
SRR IR Sfafee 177 Sfedr NSl g
4] |

(f/ Examine the role of United States of
America in the Second World War.

20 |
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